1, zx €]

Zlo
==

@ ABC olA & O 7} HlH o] &

22447}

@ 75° @ 80° @ 85° ® 90°

@® 70°



oha 1olA A I+ aABC 2 WAlo|th, LCAB = 50°, ZABL =40°
d o, zx9] 277

ol h

Q

@® 5° @ 10° ® 15° @ 20° ® 25°



® 105°

@ 115°

@ 125°

@ 135°

® 145°



o oflt
%S
>
4
[N’
0 &
>4_|l:1_, RS
rlo rlo
N
k
u}
i
S,
fle
o,
ol
£

Py
rlo
)

[7}8] bABCD 9|4l AB//DC, AD // BC
] AO = CO, BO =DO
] AOAD £} AOCB oA B3 o] tirie] Aol

o, rhu

AD//BC 0|22

/OAD = /OCB (31Z}) ---©
(ODA=[__](9dZh---®
@, ©, ©°l 2314 AOAD = AOCB ( ASA 35)
A0 =CO, BO =DO

)

rr

%

® /ODA @ /0OAB ® /CDO

@ /0OBC ® /BCO

il



th-2 2T} 2ol AB = ACSQ] o] 5HAZY ABColA <A 9] o] 5
BA BCO w8e Dt sk /CAD =25°< o, x + y o] 3he?
A

N\25°
y° .
B D A\
® 80° @ 90° ® 100° @ 110° ® 120°



@® 30°

B %

(¢}

ol2 the 193} 2ol YU}, FGE = 60° &

@ 40° ® 50° @ 60° ® 80°



7. BPAWMPABCD oA B = 52° o] H 0, O & 77
AABC, ACDA ¢ ejolt}. onff LOAQ’ 9] 27]E=7

A D

0
59°
B C

® 52° @ 52° ® 76° @ 104° ® 116°



@ 6cm @ Tcm ® 8cm @ 9cm ® 10cm



9. chemaAl

83 ABCD oA BD = 8, CD = 5°]1, ACOD &] Yo7}
69 @, A0 9] %

dolg Fatoft.




10. o= 282 A4 ABCD 9] &
A C/F A AN LEEEFE HE
o= sto] H2 Zlolrh. /BAE =
25°Y o, /AGF + Z/AEF ©] 27]|&
T-shoiet.

o
ro

N




A

& uj, AOLDO ©]t}.



12. & ™83 2ol /ADC = 70°, /C = 42° Q1 A2+ ABC 2] ¥ BC
1ol BD = AD 7 H=% 3 D £ 2 uf, 42+ ABD, ACD 2]
WAlS ZH2E T, J 2 shab AR BI o AE CJ o A ndL K
gt & o, /IKJ o] 37]& Fstoizt.

A




13. o8 JoA A1+ AB = 6ecm , BC = 8cm , /B = 90° Q1 A ZH:k
7ty ABC 9] WAdo|t}. o] Azt o] A el vhx]52] Zo]7} 2cm
o mjf, B o] Ho]=?

@ 9cm @ 10cm ® 1lcm @ 12cm ® 13cm



14. oS 9|4 gABCD & AALzZHY o]
th./APQ = 65°, /PAQ = 45° & ], ZAQD
o] A7]& Fstoiet.

A

@)




15. oS 293 Ze AABC oA AC//DE°]1, aB
90cm?, AOEC = 25cm?2°]|tl. DE7Z} AABE 2] Ho]E o
o, ADEO 9] Y o|& oloet,

A

a = cm?

—_

Q
o



16. coh& 293t 2ol Y

— Yy ()
HeEH=E F,

A D
G

® 20cm? @ 40cm? ® 60cm?

@ 80cm? ® 100 cm?

_q]



17. Z1%9A1 AB = AC, /BAC = (CEB = 90°, BE 7} /B ©] o] 554
o], BD = 10cm ¥ o], EF 9] ZAo]& £ 2.,




18.




19. HIAHEYE ABCD oA F H P, Q & 2+
H BC, CD 9] 3|t mABCD 9] Y]
7} 64cm? & ], AAPQ 2] Hol=?
@ 16cm? @ 20cm? ® 24cm?

@ 28cm? ® 32cm?



20. o2 JYJA BD : DC =2 : 3,CE : EA =1 : 20|t}
AABC = 15 o], ADCE ©] ¥ ©]+=?

A




